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B.Com. (Acc. & Fin.) DEGREE EXAMINATION, APRIL 2017.
III YEAR — VI SEMESTER

Major XVII — MANAGEMENT ACCOUNTING
Time : 3 hours
    



Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. Define Management Accounting.
2. Calculate the trend percentages from the following data taking 1984 as the base year.
	PARTICULARS   
	` In lakhs

	
	2004
	2009

	Working capital
	100
	140

	Plant and equipment
	1000
	1500

	Long term debt
	1456
	2800

	Net tangible assets
	5616
	9975


3. What is liquidity ratio?
4. From the following information, calculate Fixed asset turnover ratio.
	Particulars
	Amount

	Sales
	20,00,000

	Gross profit
	4,00,000

	Fixed Assets
	8,00,000


5. What do you mean by funds from operations ?

6. Find out the amount of depreciation charged on fixed assets during 2010?

                                                                           
 


    `

Provision for Depreciation on 1-1-2010.        


   90,000


Provision for Depreciation on 31.12.2010.    



1,00,000   


Depreciation relating to Fixed Assets Sold during 2010              25,000

7. From the following information, calculate cash from operations :


Net profit for the year


     


     -     ` 2,00,000


Total sales.                          




     -      `4,00,000


Debtors outstanding in the beginning of the year  
     - 
   `1,32,000


Debtors outstanding at the end of the year 

     –
      `99,000

8. What is a Flexible Budget?

9. From the information given below, Prepare a cash budget for june 1990.


Selling price per unit   
-   `50


Purchase price per unit
-   `40

Sales during May and June were 200 and 300 units respectively. 50% of sales are on cash basis and balance is at one month’s credit. Selling expenses are `1000 per month. Cash balance on      1st June was `12000. There was no stock at the  end of each month.

10. What is ‘pay back period’?

11. A project requires investment of `1,00,000 initially. It is estimated to provide annual net cash  inflows of `40000 for a period of 8 years. The company cost of capital is 10%. Ascertain  the net present value of the project. Reference to the annuity table shows present value of Re.1  for 8years at 10% p.a.interest is `5.335.
12. Calculate pay back period for a project which requires a cash outlay of `1,00,000 and generates cash inflows of `25,000, `35,000 and `25,000 in the first, second, third and fourth years respectively.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Distinction between Management Accounting and Cost Accounting.
14. Indicate the common-size of the following items in a common-size Balance Sheet.
Particulars                                2009

    2010







`     

      `
Total of Balance Sheet     
20,00,000          24,00,000

Fixed Assets                           8,00,000         12,00,000  

Inventories

        

  4,00,000           6,00,000


15. From the following information, find out   
(a) Current Assets

(b) Current liabilities

(c) Inventory

Current Ratio 
– 3.5

Liquid Ratio 
– 2.5

Working Capital – `1,00,000

16. What are the Objectives of Funds Flow Analysis?

17. You are required to ascertain the net profit before tax and extra ordinary items from the data given below:

Particulars      









Amount

              










       `
Net Profit for 2010 after charging /crediting the following items       80,000

Dividend










 30,000

Provision for tax made during the year 2010.                                     20,000

Year to contingency reserve







   8,000

Compensation from government for loss suffered to property

  in communal riots.








26,000

18. From the following particulars, Prepare Production Budget for 3 months ending 30th June 2011 :

    Estimated Sales

    (Units)




April 2011





1,40,000




May 2011    




1,60,000




June 2011





1,30,000




July 2011





1,20,000



It is the policy of the company to maintain 50% of the month’s sales as operating stock.

19. A project Costs `5,00,000 and yields annually a profit of `80,000 after depreciation at 12% p.a. but before tax at 50%. Calculate Pay-back period.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.

20. From the following details , Prepare a Balance Sheet with as many details as possible:

(i) Stock Velocity



-
6

(ii) Capital turnover Ratio 

-
 2

(iii) Fixed Assets Turnover Ratio 
-
 4

(iv) Gross profit ratio 


- 
20%

(v) Debtors Velocity 


- 
2 Months

(vi) Creditors Velocity 


- 
73 days

The Gross Profit was `60,000.  Reserves and Surplus amount to `20,000.  Closing Stock was `5,000 in excess of opening stock.

21. From the following Balance Sheet of Manimaran Ltd. You are required to prepare a Cash Flow Statement (As per AS-3) 

Liabilities

    
  2009
    2010

Assets
   2009
    2010





     `     
      `




       `       

`
Equity Share capital.   4,00,000    5,00,000

Land

1,00,000
 1,32,000

Profit  and Loss A/c.      20,000       46,000   

Stock         1,60,000 
 1,80,000

Creditors                     1,40,000       90,000    

Debtors      2,40,000 
 2,30,000

     








Cash              60,000       94,000




      -------------------------


     ----------------------------




        5,60,000    6,36,000                                 5,60,000    6,36,000




      ===============                             =================

22. Draw up a Flexible Budget for production at 75% and 100% capacity on the basis of the following data for a 50% activity.





`
Materials 






         100 per unit

Labour 






           50 per unit

Variable expenses (Direct)



  
  10 per unit

Administrative expenses (50% fixed)  


40,000

Selling and distribution expenses (60% Fixed)
50,000

Present production (50% Activity):


1000 units

23. Shrimati & Co. has to choose one of the two alternative machines. Calculate the pay-back period and suggest the profitable machine.

Machine Modi
    Machine Natraj



Cost of machine 



`2,00,000

`2,50,000



Working Life (years)




5


5



Profit before tax:




`


`


I year





60,000

   80,000



II year





70,000

1,00,000



III year





80,000

   80,000



IV year





60,000
  
   70,000



V year





40,000

   60,000

Rate of Income Tax



50%


   50%
———————
[P.T.O.]








PAGE  
1

